20235 1% PHTH & 3k X 08 EL RS Ul vk i

S | Kbz gz | M| %W &R 2R | BE
1 HEESY | 4L | X Af 4 92. 4 1
2 HEIEX | ERA | & A+ 92.2 2
3 HE¥EY | EEER | X A+ 90. 6 3
4 HEIEX | BB | B A+ 88. 7 4
5 HEEX | XNTF | & Af -+ 88. 6 5
6 H1 3R S TR % A+ 87 6
7 HEIEX | ERU i A+ 85. 2 7
8 HEEIE S | LI & A+ 80. 8 8
9 FFEEX | EMARE | X A+ 80. 2 9
10 H1 8 X RS i A+ 79. 6 10
11 HEES | xINE | & A+ 76. 8 11
12 S IE pE:] 529 A+ 73.6 12
13 HEHE | THEF | X Af 4 89. 6 1
14 FEHE | KAT 5oq A+ 86 )
15 EHT | REE | X Af -+ 81. 8 3
16 A AR ITW | X A+ 78. 6 4
17 HERIE | BAE | & A+ 88. 3 1
18 HEREIE | BEFR | X A+ 87. 26 )
19 HEEGE | XY | & A+ 86. 66 3
20 A S WA | X A+ 80. 84 4
21 HERIE | TH#HY | X A+ 80. 26 5
22 HEREE | FRE | X AR+ 79. 64 6
23 HERIE | ELW | X A+ 79. 48 7
24 HERIE | RAE | X Af 4 76.16 8
25 HERIE | BoF | X A+ 71 9
FAU, H3N




20235 1% PHTH & 3k X 08 EL RS Ul vk i

s | RfZER He | R | ¥R SR 2R | BE
26 HEEE | ARR | X A+ 70. 4 10
217 HERE | AEH | & A+ 68. 06 11
28 HERIE | TRE | & Af 4 61. 84 12
29 HEARE | EHHE 5°q Af 4 86. 58 1
30 HEARE Z LR = A+ 84. 22 2
31 HERE | FAC | F A+ 80. 38 3
32 HEARE | E&@ | % A+ 79. 82 4
33 FERE | RATE 5°q i 79.22 5
34 HEARE %R 21 #¢ 5°q A+ 76. 38 6
35 INFIE X T B 7 A F 94 1
36 INFIE L e 5°q AR 91. 33 2
37 N E ST Rl 5°q AR+ 91 3
38 INFIEX | BEe | X A+ 88. 67 4
39 INFEEBEX | FRIE 5°q i 87. 67 5
40 INFIE X 59 I 7 AR+ 87.33 6
41 /N IE W E g 578 A+ 86. 33 7
42 | NFIEX | FEMA | X A+ 86 8
43 | MFEX | BAR | X A+ 85. 33 9
44 INFIEX | IR | X A+ 85 10
45 | NFEX | HEY | L A+ 84. 67 11
46 /N IE FrREE % A+ 84. 33 12
47 INEEE FEH % A+ 84. 33 12
48 INFAE X W E= g AR+ 84 14
49 INFE | X i A+ 84 14
50 | ANFIEX | RERFE | X A+ 83 16

HF20, H3N




20235 1% PHTH & 3k X 08 EL RS Ul vk i

s | RfZER He | R | ¥R SR 2R | BE
51 INFIEX | EIKTE i A+ 82 17
52 INF R F BEE 5°q A+ 88 1
53 | ANFHF KBK | % M+ 86. 6 2
54 | NFHEE | BXHE | X w4+ 92. 8 1
55 N E N 5°q A+ 91. 8 2
56 /N RAE 5K 7 it i A+ 90 3
57 INFHE | HKEER | X -+ 88. 2 +
58 INFFAE T % F % A4 85. 8 5
59 N IEIE kKEE 5°q A+ 84 6
60 | /NFEREF xhE | 5 A+ 94 1
61 INFARE R E K 2 AR+ 92.8 2
62 INFRE = X IR 5°q A+ 89. 2 3
63 | Ity i 4 A+ 86. 2 4
64 INFARE F—4# 5°q A+ 85. 6 5
65 INFARE ITHN | & A+ 83. 4 6
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